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Flatpacked and Readyp-assemble
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Why weshallengage in the forest antimber constructions

The treescapturelight energy andatonvertsit to
sugar energy, in the presencedflorophyll,using
carbondioxide (CQ) and water (HO).

Thetree releaseO,

Thecarbon Gemains in the tree.
Photosynthesiss powered by sunlight.

A

Trees are a natural and renewabsEsource
Carbontrappedin the forest will be storedin the wood materialsuntil combustion

Young forest in good growth takes up a lot of ,G@ature forest in a lesser extent, while
overripe forest may increagéQ emissions

Storing carbon in buildings is better than a forest dying on root

Burningwood s climate neutral energy. This is because it emits just as much CO2 through th
chimney into the air as the tree absorbed from the air when it grew in the forest

Increased use of wood materials can reduce the use of materials such as concrete and steel



Global environment

1 m3 of wood stores 0,8 tons GO

A typical stud partition timbehouse containgpproximately 1420 m3 of wood,
whichis equivalent to 11 to 16 tons of C&tored in the buildingnass

A cross laminated timber (CLT) house will store approximdtéipnesasmuch. Typical
60m3CLT= 48 tons of C0

AnaverageNorwegian in 201€mits overs.7 tonsof CQ annually.



Condition and potential in Norwegian forest industry tod.

Norway's land area: 31 millicacres
Norwegian forest area: 12 millicacres
Productive forest8 millionacres

More than one third oNorway iscovered by
forest and one # is productive forest

Tree species distribution: 44% spruce, 31% pine and 25% hard\

Standingimber volumein the Norwegiarforestsis now more than twice as large a
100 years ago, and there is n®@4&2 millionm3 of timber in ourforests.
Anincrease of about 50 percent in volume over the last twenty years.
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Annual growth: 23,7 million m3
Annual logging:-B million m3

We take out just over 1/3 of the annual increase in the Norwegian forest

Remember: Young trees hasehigher CObinding

Older mature forest covers 40% of our productive forest



